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One imprecise and one incomplete statement in the article by Nespolo [J. Appl.

Cryst. (2015), 48, 1290–1298] are corrected.

In our article (Nespolo, 2015), one imprecise and one

incomplete statement about the conditions for Miller indices

to be relatively prime have been identified, which we correct

hereafter.

Consider the statement on page 1293, after equation (2):

‘When the unit cell is primitive or when the planes of the (hkl)

family are parallel to the face of the unit cell containing the

centring vector, the above condition is consistent with coprime

Miller integers.’ In that sentence, the term ‘the centring vector’

should be replaced by ‘a centring vector’. In the example given

for the oC unit cell in Fig. 1 therein, centring vectors go from

the origin to the lattice nodes 1
2

1
2 0, 1

2
1
2 0, 1

2
1
2 0 and 1

2
1
2 0. These are

all contained in the (001) plane, but only two of them, namely
1
2

1
2 0 and 1

2
1
2 0, are contained in the (110) plane.

On the same page, equation (2),

hxþ kyþ lz ¼ n; ð2Þ

is followed by the statement ‘it should give the first plane of

the family after the origin, in the positive direction, when n =

1’, which should be completed by the condition ‘and n is

minimal’. For example, in the case of the plane (301), all the
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Figure 1
The (301) family of lattice planes for a primitive unit cell. From bottom to
top of the figure, the planes correspond to n = 0, 1, 2, 3, 4 in equation (2).

http://crossmark.crossref.org/dialog/?doi=10.1107/S1600576717006306&domain=pdf&date_stamp=2017-04-27


planes of the family are parallel to the b axis. If the unit cell is

primitive, the three first planes have intercepts on the a and c

axes at x = 1
3, z = 1; x = 2

3 and z = 2; and x = 1 and z = 3,

respectively (Fig. 1). Accordingly, they pass through lattice

nodes 0v1, 0v2 and 1v0 (any integer v), which leads to n = 1, 2

and n = 3 in equation (2). In this case, (301) are the correct

Miller indices. If the unit cell is C centred, however, the first

three planes for the family have intercepts x = 1
6, z = 1

2; x = 1
3,

z = 1; x = 1
2, z = 3

2 (Fig. 2). Accordingly, they pass through lattice

nodes 1
2(v + 1

2)1, 0v1 and 1
2(v + 1

2)0 (any integer v), which leads to

n = 0.5, 1 and n = 1.5, respectively. Because the minimal value

of n is not 1, the Miller indices of the family are not (301) but

(602).
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Figure 2
The same family of lattice planes for a C-centred unit cell. Planes shown
in orange do not exist in a primitive unit cell. If the same Miller indices,
(301), are used, then these planes would correspond to half-integer values
of n in equation (2) and the one leading to n = 1 is not the first plane of the
family but the second one, contrary to the definition of Miller indices.
Accordingly, from bottom to top of the figure, the planes would
correspond to n = 0, 1

2, 1, 3
2, 2, 5

2, 3, 7
2, 4 in equation (2). By adopting the

correct non-relatively prime indices (602), the first plane of the family
does correspond again to n = 1 in equation (2); from bottom to top of the
figure, the planes correspond now to n = 0, 1, 2, 3, 4, 5, 6, 7, 8. Figures
drawn with VESTA (Momma & Izumi, 2011).
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